ii}b«# - 4 g

108 RS- FHFIsi- -2 fiF 432 33848

& m;}iﬁ (= ﬁ&)

L EpERT 100 A4 [10.30-12.00] A hE .
3 > : 100 A

ORI YA FE R FARETA D AE S

J;ﬂuwra+aa&+§+ﬁi*%iﬁé’%“ﬂ
WG REEE R R ATE o (R BAND
TEH - RAPL <)

A g 18 d1(First-in ~ Last-out)#12 ?

- ~FPEAE (FE2L X T0A)
ki

1.7 5 |vR- &5 ﬁi“é‘fﬁﬂ

(A)hash table (B)stack

(C)queue (D)binary tree
2T A H 3 TR 65D

(A)IOS (B)Microsoft Windows

(C)Unix (D)Apache
3.(0111),=(12)x > H ¥ xp % ?

(A4 (B)5

(C)8 (D)16

4. F* 2’Scomplement & & & s> ¥ 7RG 5 4bitso PR P p
$8(1010), &_% & A Zp BE gt — HoiE ?

(A)(4)10 (B) ()

(C)(-10)1o (D) (+10)
5.5 %cp ¢ w2elp 2 (call by itself)fi 5 ?

(A) K (B)ifit

(O)F A 3 (D)API

6.:F * = & 4% & (binary search)#% 1021 & T & 5 73 7 °
AR N '
(A)9 (B)10
(C)11 (D)1020

7.3k ASB 5 0 Ao g 2 BB B 5Y AaE 48 S IT(1(AB) &
T 7| e 44 % (equivalence) ?

(A) If (1A)==('B)) (B) if ((*:A)!=(!B))
(C©) it ((AI(B)) (D) if ((!{A)&&(!B))

(%17 %TF)



8.3 BT 74z 3
int[]Jo=new int[100];
int id=0;
for(;id<b.length;id++)
b[id]=i1d%10;
for(id=b.length-1;id>0;id--)

b[id]=b[id-1];

System out, prlntln(b[30]) //&° 3 b[30]
=E I S

(A)3 (B)S
(C)9 (D)15

9.3 ¥ 7|47 5"

int[] k={5,6,1,3,2,8};

for(i=A.length-1;i>=0;i--)
Al=K];

for(i=A.length-1;i>=1;i--)
Ali]=A[i-1];

System.out.print(A[2]);// & & A[2]

1= H N N

= e

(A)5 (B)6
(C)9 (D)12
10.(AX B+C)+DXE 2 i B N & 77 ;2 4 @ ?
(A) ++x ABCx DE (B) x++x ABCDE
(C) x+x AB+CDE (D) +x+ABx CDE

Iy Eafel i 824 Rz B2
(A)BCe b ~ 45504 ?/%“ﬁ?»'li
(B) % Al ~ ﬂ‘ EANE-Y- ST
(C)i B ~ FHE ~ Bk
(D)at 54 - %1\]@‘_ e

12. How many bits are used to encode each symbol in ASCII code?
(A)4 (B)6 (C)8 (D)9

13.5 A[1] ~ A[2] » 4= A[3]~ &) 5 7] A[]=h= i ~ % (element) >
TR AR R ET B AL A[2]ep B R D
(A) A[1] = A[2]; Al2] = A[1];
(B) A[B] = A[L]; A[1] = A[2]; A[2] = A[3];
Egg 6[%] = A[L]; A[3] = A[2]; A[1] = A[3];
Y F g ¥



14.3¢ BT 7450
int n=0,x,y;
for(x=1;x<7;x++){
for(y=0;y<=2;y++)
n=n+x+y;
x++; }
System.out.print(n);//&° 1
=G S
(A)12 (B)24
(C)30 (D)36

15.3¢ BT 74250
int j=200, S=10;
while(j>200){
S++;
while (j%4==0) ++S;
-}
System.out. println(S);//Er’ d
e o ‘é\:' 5% 5 7

(A)10 (B)15
(©)20 (D)125

16.% & ;¢ rand()ew @ @ 5 - 43 0 e 10000 2 et de o
THRBEENF A A 43 100 ¢ 1000 2. F i Fodk (@
z 100 4r 1000) ?
(A) rand() % 900 + 100 (B) rand() % 1000 + 1
(C) rand() % 899 + 101 (D) rand() % 901 + 100

17.38 B 7| A2.5¢
int B (int n, intk) {
if(k==0]| k==n){
printf ("base case\n");

return 1;
¥
return B(n-1,k-1) + B(n-1,k);
¥
F 12 B(5,2)+% r1 B()o 5t > B & € B B =t “base case” ?
(A)1 (B)5 (C)10 (D)19
18.Which is a volatile storage?
(A)Hard disk (B)DRAM
(C)Floppy (D)Flash memory



19. How many times this loop will execute?
int main(){
int i,
for(i=0;i<10;i++){
printf("%d\n", i++);

| =++10;
}
return O;
}
(A)10 (B)5 (©)4 (D)2 + ¢ 2t

20.What will be the output of the program?
#include<stdio.h>
int main(){
int i=0;
for(; i<=5; i++);
printf("%d", i);

return O;
}
(A)0,1,2,3,4,5 (B)S
(©)1,2,3,4 (D)6

21.Predict the output of following program.
#include <stdio.h>
int main(){
int a=10;
int b=2;
int c;
c=(a & b);
printf("c= %d",c);
return O;

}
(A) c= 12 (B) c= 10 (C) c=2 (D) c=0

22. How many times below loop will execute?
int main(){
int n=10,i=0;
while(1){
printf("END\n");
n++;
¥

return O;

}
(A)10 (B)5 (C)4 (D)Infinite



23.html 352 » 5k ~ F & Rz d 2 <font color="ff0000"> %" 1

# £ </font>
(A) &= (B)% C)z (D)w
24.— 3 100 X 100 > % (24bit) @25k * 9% KB ?
(A)240 (B)300 (C)30 (D)24
25.7 7| T Ha ik * end o K R D
(A)1KB=2""MB (B)1GB=2""MB
(C)TB>GB (D)GB>MB
26,4~ 2 @ (10.7) e = L 2 e e HE % S
(A)10.7 (B)10.E
(C)8.7 (D)8.E

21 BRET s A 8= ndn— B A f Bkt 2 a9 ik
23N Bl ge(-8)as e A TR BT AR ?
(A) 11100011 (B) 11110001
(C) 00011110 (D) 11111000

28. A computer uses 20 bits for its physical address. What is its
maximum size of physical memory?
(A)1024 (B)20
(C) 2% (D)4096

29. Which of the following statements will output a result 16?
(A) System.out.printin( -1 >>> 2);
(B) System.out.printin( 0 >>> 2);
(C) System.out.printin( 1 <<< 1);
(D) System.out.printin( 8 << 1);

30. What will happen if you attempt to compile and run the following
code?

public class Precedence {
public static void main(String[] args) {
intx=1,y=1,z=1;
inta=x+y-1/5+z
inth=x+(y-1)/(1+ 2);
System.out.printin(*ta="+a+"b="+Dh);

}
}
(A) a=1 b=2 (B) a=3 b=1
(C) a=2 b=2 (D) a=3 b=2



31. What will happen if you attempt to compile and run the following
code?

public class Utaipei{
public static void main(String argv[]){
Utaipei cs = new Utaipei();

inti=3;
cs.f(i);
System.out.printin(i);
by
void f(int i){ i++;}
¥
(A)Error (B)2
(C)1 (D)3
32. Which of the following lines will compile without warning or error
(Java code)?
(A) inti=1;
(B) char c="1";

(C) boolean b=yes;
(D) float f=1.20;

33. What will happen if you attempt to compile and run the following
code?
public class MyClass{
static int i=1;
public static void main(String arg[]){
System.out.printin(++i);
}}
(A) Error variable i may not have been initialized
(B) 2
€)1
(D)0

34. What the value 16.4 in octal system is equal to the value in decimal
system?

(A)14.25 (B)24.5
(C)14.5 (D)14.25

35. - &~ #E(00001111) g 4p 4 »r L= 5 5 9
(A)9 (B)15
(C)10 (D)16



SR (K104 > £ 304)

(- ) Determine whether an integer is a palindrome. An integer is a
palindrome when it reads the same backward as forward.

Example 1:
Input: 121
Output: true

Example 2:

Input: -121

Output: false

Explanation: From left to right, it reads -121. From right to left, it
becomes 121-. Therefore it is not a palindrome.

Example 3:

Input: 10

Output: false

Explanation: Reads 01 from right to left. Therefore it is not a
palindrome.

class Solution {

public:
bool isPalindrome(int x) {
¥

o

(=) ™3 FE:E 3 (¢, c++, Java, Javascript, php & = - 353 )2 ¢ B %
vhir 2 jE o BB B 475N (function) 2 2 m, n = & #c GCD -

(Z) B3 - 35 ks> #5847 5% 5 [EEE 754 Single -
0 1 8 9 31
S C M

HeY S=0 51 ~S=15%f ; C=Exponent+127 ; M & % FiF i
4.1 (normalization ) 14 & ] #c8 6> » 4 57 10 i& =% i@ 10.25
% |EEE 754 Single



